retrace!t40

retrace(es; Q; X)
=aet (Ve, e"E. (Q(e,€')) = ((T(e € X)) & (1(e’ € X))))
& (Ve, @B(X). Q) V (¢ = ¢) V (Q(e'e))
& (Ve':E.
JL:E List
(Ve:E. (e € L) <= (Q(e,e"))) & (Vei, ea:E. e before es € L = (Q(e1,e2)))))

clarification:

retrace(es; Q; X)
=qot (Veres-E(es), e:es-E(es). (Qle,e’)) = ((1(e €y X)) & (1(e' € X))))
& (Ve:es-E-interface(es; X), e’:es-E-interface(es; X).
(Qee)) V (e = ¢! € es-E(es)) V (Q(e' )
& (Ve':es-E(es).
JL:es-E(es) List
((Veres-E(es). (e € L € es-E(es)) < (Q(e,e’)))
& (Vey:es-E(es), ez:es-E(es). e before ex € L € es-E(es) = (Q(e1,e2)))))
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